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Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1.
900|317 301870 900|507
2,
3.
4.
5.
5) 6)
6.
70|1379 201820 50250
7.
8.
9.
10.
8) 9)
11.
40520 40815 40697
12.
11) 12)
801320 20(384 401746
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Vertical Division

Name:

Answer Key

Solve each problem. Answers
1) 3r47 2) 29 3) 5157 ) 3747
90[317 30[870 90[507 |
0 0 0 ) 29
31 87 50
0 50 0 s 5157
317 270 °07 . 5r29
270 270 450
47 0 57 5 41
4) 5129 5) 41 6) 5 3 5
70[379 20(820 50[250
0 0 0 7 13
37 82 25
0 80 0 s  20r15
379 20 250 o 17117
350 20 250
29 0 0 10 4
7 13 8) 20r15 9) 17r17 4 1914
40[520 40815 40(697
0 0 0 » 18126
52 81 69
40 80 40
120 15 297
120 0 280
0 15 17
10) 4 11) 1914 12) 18126
80[320 20[384 40746
0 0 0
32 38 74
0 20 40
320 184 346
320 180 320
) 4 26
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C:h Vertical Division

Name:
Solve each problem. Answers
S5 57 20 r15 5
29 41 3 r47 1
5r29 13 17 r17
1) 2) 3) z
90317 30|870 901507 3
4,
5.
6.
7.
8.
4) 5) 6)
701379 201820 50250 9.
7) 8) 9
401520 401815 401697
M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
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